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 ـ  1  

الف ـ   
3

5
− (

3

5
÷

3

5
) =

3

5
− 1 = −

2

5
   

 تمام مضاربش مرکب نیست. ب ـ  

ج ـ   
360

12
= 30  

   حالت هم نهشتی وجود دارد. 5د ـ  

 ـ 2 

5
3 −

3
4

9
2 ×

4
3

=

11
12
6
=

11
12 × 6

=
11
72

 

−
1
3
− 5 =

−1 − 15
3

=
−16

3
→

11
72
÷ (−

3
15
) × (−

16
3
) =

11
72
× (−

15
2
) × (−

16
3
) 

=
11 × 15 × 16
72 × 2 × 3

=
55
72

 

 ـ 3 

2الف ـ    × 7 = 14       2 × 2 × 7 = 28        7 × 7 × 2 = 98 

 {1,2,3,7,14,21}ب ـ 

 ـ 4 

(الف {𝐸𝐷 = 𝐷𝐴
𝐷𝐴 = 𝐴𝐵

→ 𝐸𝐷 = 𝐴𝐵 

} (ب
𝐸𝐹‖𝐷𝐴
𝐷𝐴‖𝐵𝐶

→ 𝐸𝐹‖𝐵𝐶 

(ج − 180 + 45 = 135 → 135+ 154 = 289 → 360− 289 = 71 
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 ـ 5 

(−3)2 + (2)(−3) + 1
2 − 3

−
1

2(−3)
=

9 − 6+ 1
−1

+
1
6
=
−23

6
             

 ـ  6  

𝑥) (الف  − 1)(8𝑥 − 7) = 2(4𝑥2 − 1) → 8𝑥2 − 7𝑥 − 8𝑥 + 7 = 8𝑥2 − 2 

→ −15𝑥 = −9 → 𝑥 =
9
15
=

3
5

 

6𝑥2 (ب  − 2𝑥 − 6𝑥 + 2 = 6𝑥2 − 18𝑥 − 𝑥 + 3 → 𝑥 = 3 − 2 → 𝑥 = 1 

 ـ 7 

{
8 − 𝑥 = 𝑥 − 4 → 2𝑥 = 12 → 𝑥 = 6
6− 𝑦 = 𝑦 + 2 → 2𝑦 = 4 → 𝑦 = 2 → 𝑥 + 𝑦 = 6+ 2 = 8 

 ـ   8 

{
𝐴𝑃 = 𝐴𝑃  وتر

𝐴1 = 𝐴2 زاویه

وتر ـ ز
→  𝐴𝐻́𝑃 ≅ 𝐴𝐻𝑃

اجزای متناظر
→     𝑃𝐻́ = 𝑃𝐻 

 ـ 9 

5𝑥+3الف ـ    = 5𝑥+1 × 52 = 5𝑎 × 52 = 53𝑎 

712√ب ـ    × 54 = √72×62
× √(52)22

= 76 × 52 

 ـ   10 

3الف ـ   + 2 + 24+ 𝑥 = 25 → 9 + 𝑥 = 25 → 𝑥 = 25 − 9 = 16 

میانگینب ـ   = 
3×8+13×16+2×18+4×20

25
=

24+208+80+36

25
=

348

25
 

→ج ـ   
21×100

25
= 84% 

→د ـ   
8×100

25
= 32% 

21 X 

25 100 

 
8 X 

25 100 

 

P 
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 ـ 11 

 

 

 

 

 

 ـ   12 

𝐵̂ =
𝐴𝐷𝐶

2
     𝐷̂ =

𝐴𝐵𝐶

2
    → 𝐵̂ + 𝐷̂ =

𝐴𝐷𝐶

2
+
𝐴𝐵𝐶

2
=
𝐴𝐵𝐶𝐷𝐴

2
=

360
2
= 180  

𝐵̂ + 𝐷̂ = 180 → 𝐷̂ +
2
3
𝐷̂ = 180 →

5
3
𝐷̂ = 180 → 𝐷̂ = 180 ×

3
5
= 108 

 وصل می کنیم  Dبه  Bاز ـ  13 

𝐴𝐷2 + 𝐴𝐵2 = 𝐵𝐷2 → 32 + 42 = 𝐵𝐷2 → 9 + 16 = 25 = 𝐵𝐷2 → 𝐵𝐷 = 5  

𝐶𝐷2 + 𝐵𝐶2 = 𝐵𝐷2 → 22 + 𝑥2 = 25 → 𝑥 = √21 

 ـ14 

𝐴𝐷 مماس  → 𝐴𝐷 بر  𝑂𝐷 عمود  است → 𝐷1 + 𝐷2 = 90  

𝐴𝐵 = 𝐵𝐴 → 𝐴̂ = 𝐷̂1    𝑂𝐵 = 𝑂𝐷 = شعاع → 𝐵1 = 𝐷2

𝐴𝐵𝐷: 𝐵̂1 خارج  = 𝐴̂ + 𝐷1̂ = 2𝐷1

} → 𝐷2̂ = 2𝐷1̂ 

→ 𝐷1̂ + 𝐷2̂ = 90 

𝐷2=2𝐷1
→    3𝐷1̂ = 90 → 𝐷1̂ = 30 → 𝐷̂2 = 60 → 𝐵1̂ = 60 
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 𝑂1 = 180− (60 + 60) = 60 → 𝑂2 = 120 , 𝑂𝐶 = 𝑂𝐷 = → شعاع 𝐷3 = 𝐶 → 𝐶 =
180−120

2
= 30 =

𝐷𝐶̂𝐷 

 

 ـ 15 

𝑎

𝑏
× |
𝑏3

𝑎
| −
𝑏

𝑎
× |
𝑎3

𝑏
| =

𝑎

𝑏
×
𝑏3

−𝑎
−
𝑏

𝑎
×
−𝑎3

𝑏
= −𝑏2 + 𝑎2 = 𝑎2 − 𝑏2 

 


